Math20 Unit#6 10.7;11.1to11.5,11.7;3.7;1.5;9.1t09.2
To the Test — be sure to bring:
(1) your personally-prepared 8 % “ by 11” study guide for this test
(2) your simple, non-graphing calculator
(3) your pencils
(4) your BluGold ID

1. Simplify completely. Assume all variables represent positive real numbers.
(Careful — depending on your approach, this one may involve a lot of little steps.)

11
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2. Rationalize the denominator of this rational expression and simplify completely.
Assume the variables represent positive real numbers.

d—4 d — 64

Jd +2 m



3. Solve for the value of n. If there is more than one answer, separate them with commas.

12n—180 = -3n’ —252=-5n>—-52n

4. Solve for the value of n. If there is more than one answer, separate them with commas.

8n’ =4n O’ =—"7n

5. Solve for the value of x using the square root property.

(2x-3)* =11 (8x+9)> =17



Simplify completely.

—48 =500 \J-108

Complete the square for the following expression to obtain a perfect square trinomial. Then factor the
perfect square trinomial.

W+ 12w+ This perfect square trinomial factors into: ( I )
w? —=20w+ This perfect square trinomial factors into: ( N )
w —1lw+ This perfect square trinomial factors into: ( I )

Solve the equation using the quadratic formula for the value of x .

Sk(k—6)=—1 4k(k—5) =2 X —7x-3=0



9. Solve the equation using the quadratic formula for the value of x . Reduce the answer to simplest form
and write in ascending order in the form a+ bi .

x> —6x+18=0 —4x+8=—x"

10. Develop the equation you need to solve this problem. Then, set up the quadratic formula with the
appropriate values to solve the problem.
A painting measures 12 in. by 16 in. A man wants to
put the painting in a wood frame of uniform width
then send it to his parents. Due to shipping
regulations, the total area of the painting plus frame
must be no more than 396 square inches. What is
the widest piece of wood he can use to make the

sides of the frame and still be able to ship the
painting mounted inside the frame to his parents?

Equation:

Quadratic Formula with appropriate values from the equation:



11. Develop the equation you need to solve this problem, list it, label the picture, and solve the problem.
The height of a wide-screen TV is 16 inches
less than its length. The diagonal of the
rectangular screen is 16 inches more than the
length. What is the PERIMETER of the screen?
What is the ‘size’ of the TV is sizes are based
on the size of the diagonal?

Equation:

12. Solve the inequality for the value of k. Write the answer in interval notation.

—14<2k-12<-10

—2<5k—-13<1



13. Add or subtract as indicated.

| =5+9|+3| 8- (-11)|

| -3—-(-8)|+5|-16+6|

14. Solve for the value of p .

|6x—-2|=16

|4x+6[=18

|4x+6]=—14



15. Solve for the value of x .

|l w+5]-2=3

13g+4|-7=13

16. (5pts) Solve the inequality for the value of p . Write the answer in interval notation.

lw+6|—-4>2

k+2]-3<12



